C:# Adding & Subtracting Fractions Name:

Solve each problem. Write the answer asan improper fraction (if possible).Reduce if Answers
possible.
1) Adam jogged 81/2 kilometers on Monday and 73/9 kilometers on Tuesday. What is the L
difference between these two distances?
2.
2) on Monday George spent 101/3 hours studying. On Tuesday he spent another 42/6 hours 3
studying. What is the combined time he spent studying?
4.
3 on Saturday arestaurant used 41/3 cans of vegetables. On Sunday they used another 27/10 >
cans. What is the total amount of vegetables they used?
6.
7.
4 A chef bought 51/4 pounds of carrots. If he later bought another 81/3 pounds of carrots,
what is the total weight of carrots he bought?
8.
9.
5 While exercising Oliver travelled 88/9 kilometers. If he walked 55/8 kilometers and jogged
the rest, how many kilometers did he jog? 10
6) while exercising Tom jogged 101/2 kilometers and walked 63/7 kilometers. What is the
total distance he traveled?
) The combined hei ght of two pieces of wood was 51/2 inches. If the first piece of wood was
37, inches high, how tall was the second piece?
8) Duri ng a blizzard it snowed 93/9 inches. After aweek the sun had melted 83/5 inches of
snow. How many inches of snow isleft?
9 For Halloween, Emily received 61/2 pounds of candy. After aweek her family had eaten
44/10 pounds. How many pounds of candy does she have |eft?
10) 5 1 . .
A chef had 675 pounds of carrots. If he later used 4/ pounds in arecipe, how many
pounds of carrots does he have left?
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Ch Adding & Subtracting Fractions Name: Answer Key

Solve each problem. Write the answer asan improper fraction (if possible).Reduce if Answers
possible.
21/ 7
1) Adam i 1, . 3, . . 1. 18~ “6
am jogged 87, kilometers on Monday and 77, kilometers on Tuesday. What isthe
difference between these two distances? 88/ _ 44/
2. 6~ 73
3 21]/ 211/
2) on Monday George spent 101/3 hours studying. On Tuesday he spent another 42/6 hours = =
studying. What is the combined time he spent studying? 163, _ 163
4, 12~ 12
235/ _ 235/
3) o 1 7 5 27 ‘1
n Saturday a restaurant used 475 cans of vegetables. On Sunday they used another 27/},
cans. What is the total amount of vegetables they used? @, _ 2
6. 14~ ‘14
17, 17
4) 1 1 7 10~ ‘10
A chef bought 57, pounds of carrots. If he later bought another 8/; pounds of carrots,
what is the total weight of carrots he bought? 3, _ U
8 45~ 715
21, _ 21
5) . .. . 8/ . 5, . . 9 10~ ‘710
While exercising Oliver travelled 87, kilometers. If he walked 574 kilometers and jogged
the rest, how many kilometers did he jog? 97/ — 97/
10. 40~ 740
6) while exercising Tom jogged 101/2 kilometers and walked 63/7 kilometers. What is the
total distance he traveled?
) The combined hei ght of two pieces of wood was 51/2 inches. If the first piece of wood was
37, inches high, how tall was the second piece?
8) Duri ng a blizzard it snowed 93/9 inches. After aweek the sun had melted 83/5 inches of
snow. How many inches of snow isleft?
9 For Halloween, Emily received 61/2 pounds of candy. After aweek her family had eaten
44/10 pounds. How many pounds of candy does she have |eft?
10) A chef had 65/8 pounds of carrots. If he later used 41/5 pounds in arecipe, how many
pounds of carrots does he have left?
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C:# Adding & Subtracting Fractions Name:

Solve each problem. Write the answer asan improper fraction (if possible).Reduce if Answers
possible.
237 237 88 44 235 235 21 7 21 21
/14=""1a /6= /3 /72= "7 /18 = /s /10 = /10 L
211 211 163 163 97 97 17 17 33 11
/30 = "/30 /12=""712 /a0 = /a0 /10 =" /10 /45 = /15 9
1) Adam jogged 81/2 kilometers on Monday and 73/9 kilometers on Tuesday. What isthe
difference between these two distances? 3
(LCM =18)
4.
2) on Monday George spent 101/3 hours studying. On Tuesday he spent another 42/6 hours
studying. What is the combined time he spent studying? >
(LCM=6)
6.
3 on Saturday a restaurant used 41/3 cans of vegetables. On Sunday they used another 27/10
cans. What is the total amount of vegetables they used? 7.
(LCM =30)
L ) 8.
4) A chef bought 5/, pounds of carrots. If he later bought another 8/ pounds of carrots, what
isthe total weight of carrots he bought? 9
(LCM=12)
10.

5 Wwhile exercising Oliver travelled 88/9 kilometers. If he walked 55/8 kilometers and jogged

the rest, how many kilometers did he jog?
(LCM =72)

6) While exercising Tom jogged 101/2 kilometers and walked 63/7 kilometers. What is the total

distance he traveled?
(LCM = 14)

/) The combined hei ght of two pieces of wood was 51/2 inches. If the first piece of wood was

37, inches high, how tall was the second piece?
(LCM = 10)

8) Duri ng ablizzard it snowed 93/9 inches. After aweek the sun had melted 83/5 inches of

snow. How many inches of snow is left?
(LCM =45)

9 For Halloween, Emily received 61/2 pounds of candy. After aweek her family had eaten
44/10 pounds. How many pounds of candy does she have left?
(LCM =10)

10) A chef had 65/8 pounds of carrots. If he later used 41/5 pounds in arecipe, how many
pounds of carrots does he have left?
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